Standard Section — CRO — Start in Car Park. - Novice

MTC1 351 % 681 to TC2 SE 350 %2 662 > | Miles 4.5 - Time 9 mins

From MTC1 go to TC2 via the following.
(DMF) SWRNAMA HF KF IF (112)

Novice Hint: (DMF) = Avoid. HF = Go Via Home Farm.

Standard Section — CRO - Novice

TC2 350 2 662 2 NW to TC3 SW 299 % 671 | Miles 6.5 — Time 13 mins

From TC2 go to TC3 via the following.
TLTRTLML GW A338 TLTRTR TR

Novice Hint: TL = Turn Left, ML = Miss a Left.

Standard Section — CRO - Novice

TC3 299 2 671 NNE to TC4 SSE 321 % 739 | Miles 8.0 - Time 16 mins

From TC3 go to TC4 via the following.

YYWY YRR RRYY YBB BYB BBB BWB BBY YWY YYY YWY YWY
YYYLWRNAMA YYYYLWRNAMATR YYYLWRNAMA.

AVOID 324 737 100m Rad

Novice Hint: Y = Yellow, R = Red & B = Brown.




Standard Section — WUW. - Novice

TC4 321 2739 %> NNW to TCS WNW 328 ', 728 V4 | Miles 6.0 — Time 12 mins

From TC4 go to TC5 via the following.
1.50 5.00 2.25 3.25 825 825 8.00 9.95 9.00 7.75 8.00 See TC5 below.
LWRNAMA @ 329% 741

Novice Hint: 1.75 = Grid Line crossing distance, see diagram below.
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Standard Section - CRO Novice
TC5 328 Y4 728 ¥ SE to TC6 WNW 351 ¥ 697 | Miles 8.0 — Time 16 mins

If A1 =3274, F1 = 3269 and C4 = 3572 go from TC5 go to TC6 via the following.
C2 D2 D3 C3 B3 A3 A4 B4 B5 C5 C4 D4 D3 E3 E2 F2 F3 F4

Novice Hint: Use grid squares as a grid. A,B,C, D, E & F Down the map & 1,2, 3,4
& 5 across the map.




Standard Section - CRO Novice

TC6 351 5 697 ESE to TC7 NE 414 707 | Miles 8.5 — Time 17 mins

From TC6 go to TC7 via the following.
CXXIX CII CXXVI MS XCIV IX CXXXVIII CIV

Novice Hint: Roman Numerals. CXXIX = 129

Standard Section - CRO Novice

TC7 414 707 SW to TC8 ENE 429 687 | Miles 5.0 - Time 10 mins

From TC7 go to TC8 via the following diagram.

\VAR L]
| VA |

Novice Hint: Conventional Herring Bone, Left to Right. Miss 2 on Left at crossroads
then 1 on the Right.

Standard Section - CRO Novice

TC8 429 687 WSW to MTC9 SW 442 V2 631 | Miles 7.5 — Time 15 mins

From TC8 go to MTCS9 via following.
68 10 67 42541 1266 9414210 42 65 42 64 64 43 64 63 9 44 63

Novice Hint: 68 = GL, 10 = SH 82 [8+2 = 10] then GL 67.




